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duneti Ifaansesndauas Instruction format 493 IAS Medeaeuilsznsu (i 10-11)
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ADDRO: JUMP M(ADDR2,0:19) STOR M(ADDR102)
ADDR1: PUT value -1 in this address

ADDR2: LOAD M(ADDR109) SUB M(ADDR101)
ADDR3: JUMP +M (ADDRS5,20:39) LOAD M(ADDR102)
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- up¥ITAUN 1 Juiia 16 KB fluarila Unified cache Fully Associative

D.

o =

C upwszaui 2 Suuie 32 KB iWuwiia Unified cache i Direct Mapped
_ upwseeuf 3 Suuie 48 KB iiuiia Unified cache il 3-way set associative
Smuald cache line size Hvwa 16 lud

71 e nus uIuTave A address field ¥BA¥TTAUN 1 (2 AZUUW)

Tag=..cooeiieiiinins ua
Word = ....oovvvnnn 19
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72 et uns uIuavpIRas address field UBUIATFTZALN 2 (2 ALUUY)

Tag=.cociieinne U
ine=.cooveerrrennn. i)
word=................ Ue
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Tag = ..ccoooviiiinns 1
Set= ... uA
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Figure 2.2 IAS Memory Formats
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Table 2.1 The IAS Instruction Set

Symbolic
Instruction Type  Opcode Representation Description
00001010 LOAD MQ Transfer contents of register MQ to the
accumulator AC
00001001  LOAD MOQM((X)  Transfer contents of memory location X
to- MQ
00100001  STOR M(X) Transfer contents of accumulator to
Data transfer memory location X
00000001 LOAD M(X) Transfer M(X)-to the accumulator
00000010 LTOAD -M(X) Transfer =M(X) to the accumulator
00000011 - LOAD IMX)I Transter absolute value-of M(X) to the
accumulator
00000100  LOAD =IMEO! Transfer =IM(X)! to the accumulator
00001101  JUMP M(X,O:T9) Take next instruction from left half of
Unconditional MX)
branch 00001110  JUMP M(X.20:39) Take next instruction from right half of
M)
00001111 JUMP+ M(X,0:19) 1 number in the accumulator is
nonnegative, take next instruction from
Conditional left half of M(X)
branch 00010000 JUMP+ If number in the accumulator is
M(X,20:39) nonnegative, take next instruction from
right half of M(X)
00000101  ADD M(X) Add M(X) to AC; put the result in AC
00000111 ADD IME)I Add IM(X)! to AC; put-the resultin AC
00000110 SUB M(X) Subtract M(X) from AC; put the result in
AC
00001000 SUBIM(X)! Subtract IMOI from AC; put the
remainderin AC
) . 00001011 MUL M((X) Multiply M(X) by MQ; put most
Arithmetic significant bits of result in AC, put least
significant bits in MQ
00001100 . DIV. M(X) Divide AC by M(X); put the quotient in
MQ and the remainder in AC
00010100 . LSH Multiply accumulator by 2, i.e., shift left
one bit position
00010101 RSH Divide accumulator by 2, i.e., shift right
one position
00010010  STOR M(X,8:19) Re{ﬂace left adc;ress field at M(X) by 12
. rightmost bits of AC
Address modify 0516011 STOR M(X.28:39)

Replace right address field at M(X) by 12
rightmost bits of AC




